



THE COUNTY OF DUPAGE  
FINANCE - PROCUREMENT  
SECONDARY FOOD SUPPLIES AND CHEMICALS 23-020-DCC  
BID TABULATION

✓

				FOX RIVER FOODS INC. DBA PERFORMANCE FOODSERVICE CHICAGO		GORDON FOOD SERVICE, INC.	
NO.	ITEM	UOM	QTY	PRICE	EXTENDED PRICE	PRICE	EXTENDED PRICE
<b>PART 1 - MEAT AND PRODUCE</b>							
1	Beef Ground Bulk Fine 81/19, 8/10# average	CASE	7	\$ 196.00	\$ 1,372.00	\$ 190.40	\$ 1,332.80
2	Beef Patties Raw 80/20	CASE	21	\$ 59.56	\$ 1,250.76	\$ 83.20	\$ 1,747.20
3	Beef Stew Meat Diced (size and shape may vary) 85% lean	CASE	35	\$ 41.10	\$ 1,438.50	\$ 54.10	\$ 1,893.50
4	Beef Certified Angus Flat Raw Boneless Bottom Round 171B (meat buyers guide number)	CASE	5	\$ 183.43	\$ 917.15	\$ 158.08	\$ 790.40
5	Carrots Grade A Diced (3/8" pieces)	CASE	19	\$ 30.00	\$ 570.00	\$ 34.49	\$ 655.31
6	Chicken Breast 4oz boneless/skinless in controlled vacuum packaging	CASE	11	\$ 71.56	\$ 787.16	\$ 81.50	\$ 896.50
7	Chicken breast 4oz B/S (boneless/skinless) IFZ (Individually quick frozen) in Ziplock Bags	CASE	11	\$ 37.57	\$ 413.27	\$ 42.93	\$ 472.23
8	Chicken Meat Diced 80D/20W (80% dark meat / 20% white meat)	CASE	25	\$ 42.19	\$ 1,054.75	\$ 29.36	\$ 734.00
9	Turkey Breast Raw BNLS (boneless/skinless) foil wrapped	CASE	10	\$ 89.60	\$ 896.00	\$ 95.00	\$ 950.00
				<b>PART 1 TOTAL</b>	<b>\$ 8,699.59</b>		<b>\$ 9,471.94</b>

PART 2 - MISCELLANEOUS ITEMS

				FOX RIVER FOODS INC. DBA PERFORMANCE FOODSERVICE CHICAGO		GORDON FOOD SERVICE, INC.	
NO.	ITEM	UOM	QTY	PRICE	EXTENDED PRICE	PRICE	EXTENDED PRICE
1	Coffee Decaf Ground 30/6.3oz packages	CASE	18	\$ 57.88	\$ 1,041.84	\$ 119.07	\$ 2,143.26
2	Containers Foam Hinged 3 Compartment Double Tab 8x8x3	CASE	29	\$ 17.89	\$ 518.81	\$ 18.89	\$ 547.81
3	Eggs Whole Liquid Fresh with Citric Acid TFF (Trans Fat Free) 15/2LB containers	CASE	28	\$ 61.73	\$ 1,728.44	\$ 55.38	\$ 1,550.64
4	Ice Cream Cups Vanilla 4oz	CASE	49	\$ 18.37	\$ 900.13	\$ 18.15	\$ 889.35
5	Orange Juice Cup Frozen 6oz	CASE	57	\$ 24.57	\$ 1,400.49	\$ 13.81	\$ 787.17
6	Margarine Soft Buttery Spread (non-dairy) 600/5gm	CASE	35	\$ 17.40	\$ 609.00	\$ 28.26	\$ 989.10
7	Milk 2% Dairy Nectar Thickened Consistency L2 (mildly thick) 24/8oz per case	CASE	76	\$ 11.51	\$ 874.76	\$ 21.40	\$ 1,626.40
8	Milk 2% Dairy Honey Thick Consistency L3 (moderately thick) 24/8oz per case	CASE	50	\$ 31.98	\$ 1,599.00	\$ 21.40	\$ 1,070.00
9	Plastic Lid for Shoreline Collection (fits 5oz bowl/8oz mug)	CASE	13	\$ 57.47	\$ 747.11	\$ 35.39	\$ 460.07
10	Potatoes Mashed Complete (w/Vitamin C) Dried in a Plastic Safety Resealable Can 6/5.1LB per case	CASE	12	\$ 69.71	\$ 836.52	\$ 58.88	\$ 706.56
11	Soup Base Instant Cream Gluten Free / No Added MSG	CASE	17	\$ 61.15	\$ 1,039.55	\$ 51.55	\$ 876.35
12	Supplement MedPlus Vanilla 2.0 (2 calories per milliliter) Nectar Consistency L2 (mildly thick) 12/32oz	CASE	27	\$ 29.18	\$ 787.86	\$ 47.27	\$ 1,276.29
13	Supplement Nutritional Treat Orange Flavor L4 (extremely thick)	CASE	19	\$ 32.58	\$ 619.02	\$ 29.11	\$ 553.09
14	Supplement Nutritional Treat Wild Berry Flavor L4 (extremely thick)	CASE	18	\$ 30.12	\$ 542.16	\$ 29.11	\$ 523.98
15	Yogurt Low Fat Strawberry Pouch	CASE	14	\$ 37.68	\$ 527.52	\$ 31.53	\$ 441.42
16	Yogurt Low Fat Vanilla Pouch	CASE	16	\$ 34.08	\$ 545.28	\$ 31.53	\$ 504.48
				PART 2 TOTAL	\$ 7,073.47		\$ 8,533.73
				GRAND TOTAL	\$ 15,773.06		\$ 18,005.67

PART 3 – CATEGORY MARK-UP RATE SHEET

Category	Product Category	FOX RIVER FOODS INC. DBA PERFORMANCE FOODSERVICE CHICAGO	GORDON FOOD SERVICE, INC.
1	Meat General (poultry, seafood, pork, beef, etc.) Fresh and Frozen	<b>12.00%</b>	8.95%
2	Produce	<b>8.00%</b>	11.20%
3	Non-Fluid Dairy	<b>9.00%</b>	9.45%
4	Frozen	<b>11.00%</b>	9.45%
5	Juices	<b>12.00%</b>	10.20%
6	Coffee	<b>12.00%</b>	10.20%
7	Fluid Dairy	<b>9.00%</b>	9.45%
8	Dairy Other	<b>9.00%</b>	9.45%
9	Dietary Supplements	<b>11.00%</b>	9.45%
10	Chemicals and Cleaning	<b>15.00%</b>	10.20%
11	Dry Goods	<b>11.00%</b>	9.45%
12	Smallwares and Disposables	<b>10.00%</b>	10.20%

NOTES:

1. Fox River Foods Inc. dba Performance Foodservice Chicago's bid submission included items that were not included on the County's Bid Form Pricing. Those items were not included on the Bid Tabulation.
2. The following adjustments were made to Fox River Foods Inc. dba Performance Foodservice Chicago's prices to adjust for casepack quantity exceptions:
  - a) Part 1, Item 2: Requested case of 80 EA. Bid is for case of 40 EA.  $\$29.78 \text{ per case bid price} / 40 = \$0.7445 \text{ EA}$ .  $\$0.7445 \times 80 = \$59.56$  adjusted case price.
  - b) Part 1, Item 5: Requested case of 30 LBS. Bid is for case of 24 LBS.  $\$24.02 \text{ per case bid price} / 24 = \$1.00/\text{LB}$ .  $\$1.00 \times 30 = \$30.00$  adjusted case price.
  - c) Part 1, Item 9: Requested case of 20 LBS. Bid is for case of 22 LBS.  $\$98.52 \text{ per case bid price} / 22 = \$4.48/\text{LB}$ .  $\$4.48 \times 20 = \$89.60$  adjusted case price.
  - d) Part 2, Item 2: Requested case of 150 EA. Bid is for case of 200 EA.  $\$23.85 \text{ per case bid price} / 200 = \$0.11925/\text{EA}$ .  $\$0.11925 \times 150 = \$17.89$  adjusted case price.
  - e) Part 2, Item 6: Requested case of 600 EA. Bid is for case of 900 EA.  $\$26.39 \text{ per case bid price} / 900 = \$0.029/\text{EA}$ .  $\$0.029 \times 600 = \$17.40$  adjusted case price.
  - f) Part 2, Item 11: Requested case of 28 OZ X 6 = 168 OZ. Bid is for case of 25.22 OZ X 6 = 151.32 OZ.  $\$55.04 \text{ per case bid price} / 151.32 \text{ OZ} = \$0.364/\text{OZ}$ .  $\$0.364 \times 168 = \$61.15$  adjusted case price.
  - g) Part 2, Item 12: Requested case of 23 OZ X 12 = 384 OZ. Bid is for case of 6 OZ X 50 = 300 OZ.  $\$22.81 \text{ per case bid price} / 300 \text{ OZ} = \$0.076/\text{OZ}$ .  $\$0.076 \times 384 = \$29.18$  adjusted case price.
  - h) Part 2, Item 15: Requested case of 4 LB X 6 = 24 LBS. Bid is for case of 5 LB X 4 = 20 LBS.  $\$31.34 \text{ per case bid price} / 20 \text{ LBS} = \$1.57/\text{LB}$ .  $\$1.57 \times 24 = \$37.68$  adjusted case price.
  - i) Part 2, Item 16: Requested case of 4 LB X 6 = 24 LBS. Bid is for case of 5 LB X 4 = 20 LBS.  $\$28.31 \text{ per case bid price} / 20 \text{ LBS} = \$1.42/\text{LB}$ .  $\$1.42 \times 24 = \$34.08$  adjusted case price.

3. The following adjustments were made to Gordon Food Service Inc.'s prices to adjust for casepack quantity exceptions:

- Part 1, Item 1: Requested case of 10 LB X 8 = 80 LBS. Bid is for case of 10 LB X 6 = 60 LBS. \$142.60 per case bid price /60 LBS = \$2.38/LB. \$2.38 X 80 = \$190.40 adjusted case price.
- Part 1, Item 2: Requested case of 4 OZ X 80 = 320 OZ. Bid is for case of 4 OZ X 64 = 256 OZ. \$65.37 per case bid price /256 OZ = \$0.26/OZ. \$0.26 X 80 = \$83.20 adjusted case price.
- Part 1, Item 3: Requested case of 5 LB X 2 = 10 LBS. Bid is for case of 5 LB X 4 = 20 LBS. \$108.28 per case bid price /20 LBS = \$5.41/LB. \$5.41 X 10 = \$54.10 adjusted case price.
- Part 1, Item 4: Requested case of 13 LB X 4 = 52 LBS. Bid is for case of 15 LB X 4 = 60 LBS. \$182.40 per case bid price /60 LBS = \$3.04/LB. \$3.04 X 52 = \$158.08 adjusted case price.
- Part 2, Item 1: Requested case of 6.3 OZ X 30 = 189 OZ. Bid is for case of 6 OZ X 32 = 192 OZ. \$120.89 per case bid price /192 OZ = \$0.63/OZ. \$0.63 X 189 = \$119.07 adjusted case price.

Bid Opening 2/10/2023 @ 2:30 PM	DW, NE
Invitations Sent	26
Total Vendors Requesting Documents	2
Total Bid Responses	2